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QUESTION 1

Click the Exhibit button.

-- Exhibit

user@router> show configuration system services | display inheritance ssh; telnet; -- Exhibit -
Referring to the exhibit, which two statements are true? (Choose two.)

A. Inbound FTP connections to the router would not work.

B. Outbound FTP connections initiated from the router would not work.

C. Inbound FTP connections to the router would work.

D. Outbound FTP connections initiated from the router would work.

Correct Answer: AD

QUESTION 2

Click the Exhibit button.

-- Exhibit -user@router> show chassis environment

Class Item Status Measurement Power Power Supply A OK Power Supply B Absent Temp FPC 0 OK 28 degrees C /82
degrees F FPC 1 OK 27 degrees C / 80 degrees F Power Supply A OK 22 degrees C / 71 degrees F Power Supply B
Absent SSB 0 OK 30 degrees C / 86 degrees F Backplane OK 22 degrees C/ 71 degrees F Routing Engine 0 OK 26
degrees C/ 78 degrees F Routing Engine 1 Testing Fans Rear Fan OK Spinning at normal speed Front Upper Fan OK
Spinning at normal speed Front Middle Fan OK Spinning at normal speed Front Bottom Fan OK Spinning at normal
speed Misc Craft Interface OK -- Exhibit -

Referring to the exhibit, which two statements are true about the chassis? (Choose two.)

A. Power Supply B is not installed in the system.

B. Power Supply B is installed in the system but has failed.

C. Routing Engine 1 has failed.

D. Routing Engine 1 is installed in the system but is still initializing.

Correct Answer:. AD

QUESTION 3

A technician has reported an alarm on your device running the Junos OS. You suspect it is due to the temperature in
the rack. Which two commands will confirm your suspicion? (Choose two.)

A. show chassis alarms
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B. show chassis firmware
C. show chassis hardware
D. show chassis environment

Correct Answer: AD

QUESTION 4

Click the Exhibit button.

-- Exhibit -user@R1> show pfe statistics traffic Packet Forwarding Engine traffic statistics: Input packets:
47593914461368 2 pps Output packets: 28805646 3 pps Packet Forwarding Engine local traffic statistics: Local packets
input : 36278104324 Local packets output : 2 Software input control plane drops : 0 Software input high drops : 0
Software input medium drops : 0 Software input low drops : 0 Software output drops : 0 Hardware input drops :
191367536738 Packet Forwarding Engine local protocol statistics: HDLC keepalives : 0 ATM OAM : 0 Frame Relay LMI
: 0 PPP LCP/NCP : 0 OSPF hello : 3883169 OSPF3 hello : 0 RSVP hello : 1440704 LDP hello : 4782297 BFD : 0 IS-IS
IIH: 0 LACP : 0 ARP : 765512 ETHER OAM : 0 Unknown : 1897610 Packet Forwarding Engine hardware discard
statistics: Timeout : O Truncated key : 0 Bits to test : 0 Data error : 0 Stack underflow : 0 Stack overflow : 0 Normal
discard : 191367536738 Extended discard : O Invalid interface : 0 Info cell drops : 191367536738 Fabric drops :
191367536738 Packet Forwarding Engine Input IPv4 Header Checksum Error and Output MTU Error statistics: Input
Checksum : 0 Output MTU : 0

-- Exhibit -

Referring to the exhibit, which counter indicates a possible denial of service attack?

A. hardware input drops

B. normal discard

C. info cell drops

D. fabric drops

Correct Answer: A

QUESTION 5

Which CLI command is used to restart a software process?
A. restart

B. reboot

C. commit

D. reload

Correct Answer: A

To restart a process one have to use restart , reboot is not even a valid command.
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Possible completions: restart Restart software process
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